Algebra 1: Unit 5 Review
Find each sum or difference.
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Find each product.
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Factor each polynomial.
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Factor each polynomial, if possible. If the polynomial cannot be factored,

write prime.
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Solve each equation. Check the solutions. Coprdan
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20. The length of a rectangular garden is 5 feet longer than its width. The
garden is surrounded by a 2-foot-wide sidewalk. The sidewalk has an area 20.
of 76 square feet. Find the dimensions of the garden.
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23. Lanu hit a volleyball into the air with an initia1 upward velocity of 24 feet
per second. The height / in feet of the ball above the ground can be 23.
modeled by h =—16t2 + 24¢ + 3, where ¢ is the time in seconds after Lanu
hit the volleyball Find the time it takes the ball to reach 17 fent above the
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24, The area of a rectangular room is 104 square feet. The length of the room 24.
is 5 feet longer than the width. Find the dimensions of the room.
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